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https://wiki.muctr.ru/pages/viewpage.action?pageId=1220324
https://docs.moodle.org/400/en/Calculated_question_type
https://wiki.muctr.ru/pages/viewpage.action?pageId=1220170

Quiz.3, , [[Quiz.3]] .
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average([[item1]], [[item2]]...):
ceil(number): .

Floor(number): 5

max([[item1]], [[item2]]...):

min([[item1]], [[item2]]...):

mod(dividend, divisor): .

sum([[item1]], [litem2]]....): ( , [[item1]]+[[item2]]+...
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=max([[Quiz.1]], [Quiz.4]], [[Assignment.1]]) — , Quiz.1, Quiz.4 Assignment.1.

=average(max([[.1]], [[.4]], [[.11]), min([[.1]], [[.4]], [[ Assignment.1]])) — Quiz.1, Quiz.4 Assignment.1 ( ).
=sum([[item1]]*0.3, [[item2]]*0.6, [[item3]]*2) — , 1 30 %, 2 — 60 %, 3 — 60 %. 200%
=if([[midtermexam]]>=5, [[midtermexam]]+[[lab]], 0) — , 5,0 . 5

=if(AND([[item1]]>=5, [[item2]]>=5), ([[item1]]+[[item2]])/2, 0) — iteml item2. 5 , 0 .
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